—
<
i

tbar{t}} [p b/ G eVZ]

m

G‘—O'IIU
t,1
b Cdgt

o

d
<

1077

Ratio to ATLAS

0.5

1SQOO va PP

H I I T | T I I — ﬂ
— top 1
B P_" (ATLAS ttbar) 13
— T p—
X
o
I — O
— =
— =N
— —o
I —
o |
™
—— —
— 0.2
— A
= =g
— — ™M
— =
L M
_ —©
L _|1O
(49)
e
—— ®m ATLAS : =2
- --O-- H_.erwig]_._2..1-dé:faul.t..._ 1%
[ —A— PYthia6.428 370 s
— —4— Pythia 8.308 default als
¢ Sherpa 2.2.0 default —] S
— = 2]
- 40
- —H O
| )
| . . . . | . . | E
:l T T T T | T T |:
— -2
1
B A/Er ~~~~~~~ 0.5
-
| 1 " 1 1 1 | 1 1 " |
0 500 1000



	Contents
	Page 1


